Article ID: 1000 - 8152(2003)02 - 0302 - 05

# Performance improvement in model reference adaptive control with the unknown high frequency gain

XIE Xue-jun<sup>1,2</sup>, ZHANG Si-ying<sup>2</sup>, XU Min<sup>1</sup>

(1. Institute of Automation, Oufu Normal University, Shandong Oufu 273165, China;

(2. College of Information Science and Engineering, Northeastern University, Liaoning Shenyang, 110004, China)

**Abstract:** Under the assumption of the unknown high frequency gain  $k_p$ , a modified model reference adaptive controller is proposed. It is proved that the modified MRAC scheme has the stability and robustness properties, meanwhile the transient performance can be indeed improved by choosing the control law.

**Key words**: MRAC; performance improvement; stability **CLC number**: TP273.2 **Document code**: A

# 具有未知高频增益的模型参考自适应控制的性能提高

解学军1,2,张嗣瀛2,续 敏1

(1.曲阜师范大学 自动化研究所,山东 曲阜 273165; 2.东北大学 信息科学与工程学院, 辽宁 沈阳 110004)

摘要:在高频增益  $k_p$  未知的假设下,提出了一种修改的模型参考自适应控制器.证明了这种修改的模型参考自适应控制方案具有稳定性和鲁棒性;同时通过选取的控制律,其瞬态性能也明显提高.

关键词:模型参考自适应控制;性能提高;稳定性

## 1 Introduction

Recently, more and more researchers are concentrating their attention on the performance issue of robust model reference adaptive control. Consider the following plant

$$y_p = G_p(s)(u_p + d) = k_p \frac{Z_p(s)}{R_p(s)}(u_p + d),$$

(1.1)

where  $R_p(s) = s^n + a_{n-1}s^{n-1} + \cdots + a_0$ ,  $Z_p(s) = s^m + b_{m-1}s^{m-1} + \cdots + b_0$ ,  $a_i$ ,  $b_j$  are unknown constants. d is bounded disturbance, i.e., there exists a constant  $d_0 > 0$  such that  $|d| \le d_0$ .

MRAC is to choose  $u_p$  such that all signals in the closed-loop system are all bounded, and  $y_p$  tracks the following reference model output  $y_m$  as close as possible for any given reference input r(t).

$$y_m = W_m(s)r = k_m \frac{Z_m(s)}{R_m(s)}r.$$
 (1.2)

Up to now, most of the results on MRAC with normalized adaptive laws can only guarantee that the tracking error  $e ext{ } extstyle extstyle } extstyle y_p - y_m ext{ satisfies}$ 

$$\int_{t}^{t+T} |e(\tau)|^{2} d\tau \leq c(f_{0} + d_{0}^{2}) T + c, \ \forall t, T \geq 0,$$
(1.3)

where  $f_0$  is a design parameter, and depending on the choices of the robust parameter estimation algorithms<sup>[1]</sup>, c is some constant.

To further improve the performance of MRAC, in [1, 3], Sun considered the following control law

$$u_{p} = \theta_{0}^{T} w_{0} + c_{0}^{*} r - C(s) e,$$

$$C(s) = \frac{Q(S)}{1 - \frac{1}{c_{0}^{*}} W_{m}(s) Q(s)},$$
(1.4)

where 
$$Q(s) = \frac{c_0^* W_m^{-1}(s)}{(\tau s + 1)^n}$$
,  $c_0^* = \frac{k_m}{k_p}$ . From (1.1) and (1.4),

$$e = \frac{(\tau s + 1)^{n} - 1}{(\tau s + 1)^{n}} \frac{1}{c_0^*} W_m(s) [\tilde{\theta}_0^T w_0 + d_1],$$
(1.5)

Received date: 2001 - 03 - 28; Revised date: 2002 - 06 - 24.

where  $\tilde{\theta}_0 = [\tilde{\theta}_1^{\mathrm{T}}, \tilde{\theta}_2^{\mathrm{T}}, \tilde{\theta}_3]^{\mathrm{T}}, \tilde{\theta}_i = \theta_i - \theta_i^*$ ,  $\theta_i$  is an estimate of  $\theta_i^*$ ,  $i = 1, 2, 3, d_1 = \frac{\Lambda(s) - {\theta_1^*}^{\mathrm{T}} a(s)}{\Lambda(s)} d$ . By (1.5), we can prove that

$$\mid e \mid \leq c\tau. \tag{1.6}$$

Obviously the result is better than (1.3).

In his work, we require the high-frequency gain  $k_p$  to be known. Based on the assumption, we are supposed to design  $Q(s) = \frac{c_0^* W_m^{-1}(s)}{(\tau s + 1)^n}$  which is relevant to  $k_p(c_0^*) = \frac{k_m}{k_p}$  such that

$$1 - \frac{1}{c_0^*} W_m(s) Q(s) = \frac{(\tau s + 1)^{n^*} - 1}{(\tau s + 1)^{n^*}}, \quad (1.7)$$

while for the case of unknown  $k_p$ , since  $c_0^* = \frac{k_m}{k_p}$ ,  $c_0^*$  is unknown; therefore we can not design  $Q(s) = \frac{c_0^* W_m^{-1}(s)}{(\tau s + 1)^n}$  such that (1.8) holds. For this reason how

to choose Q(s) such that the tracking error has the form (1.6) constitutes the first part of our paper. It is worth emphasizing that the method used in this paper is completely different from those in [1,3]. Then, we prove that the modified MRAC has the stability and robustness properties, and meanwhile the transient performance can be indeed improved.

# 2 A modified model reference adaptive controller

We need the following assumptions for  $G_p(s)$  and  $W_m(s)$ :

- 1)  $Z_p(s)$  is monic Hurwitz polynomial.
- 2) The relative degree  $n^* = n m \ge 1$  is known.
- 3) The sign of  $k_p$  is known.
- 4)  $Z_m(s)$  and  $R_m(s)$  are monic Hurwitz polynomials of degree  $q_m, p_m$ , respectively, with  $p_m \le n, n^* = p_m q_m$ .
- 5) There exists the known constants  $k_{\rm max}$ ,  $k_{\rm min} > 0$  such that

$$k_p - \frac{k_p}{2^{n} - 1} < k_{\min} \le k_p \le$$

$$k_{\max} < k_p + \frac{k_p}{2^{n} - 1}.$$

We express (1.1) as

$$R_p(s) y_p = k_p Z_p(s) (u_p + d).$$
 (2.1)

Adding and subtracting  $\theta^{*r}w$ , we obtain  $R_{p}(s)\gamma_{p} = k_{p}Z_{p}(s)(u_{p}-\theta^{*T}w)+k_{p}Z_{p}(s)\theta^{*T}w+k_{p}Z_{p}(s)d = k_{p}Z_{p}(s)(u_{p}-\theta^{*T}w)+k_{p}Z_{p}(s)(\theta_{1}^{*T}w_{1}+\theta_{2}^{*T}w_{2}+\theta_{3}^{*}\gamma_{p}+c_{0}^{*}r)+k_{p}Z_{p}(s)d,$  (2.2)

where  $\theta^* = [\theta_1^{*T}, \theta_2^{*T}, \theta_3^{*}, c_0^{*}]^T$  is the parameter of the controller,  $w = [w_1^T, w_2^T, \gamma_p, r]^T$ ,  $w_1 = \frac{a(s)}{\Lambda(s)}u_p$ ,  $w_2 = \frac{a(s)}{\Lambda(s)}\gamma_p$ ,  $a(s) = [s^{n-2}, s^{n-3}, \cdots, s, 1]^T$ ,  $\Lambda(s)$  is known monic Hurwitz polynomial of degree n-1,  $\Lambda(s) = \Lambda_0(s)Z_m(s)$ . The design parameter  $\delta_0 > 0$  is chosen so that  $\Lambda(s)$ ,  $Z_m(s)$ , and  $R_m(s)$  have all their roots in Re  $[s] < -\frac{\delta_0}{2}$ . Consider the matching equations<sup>[1]</sup>

$$(\Lambda(s) - \theta_1^{*T} a(s)) R_p(s) - k_p(\theta_2^{*T} a(s) + \theta_3^{*} \Lambda(s)) Z_p(s) = Z_p(s) \Lambda_0(s) R_m(s), \qquad (2.3)$$

$$c_0^* = \frac{k_m}{k_p}, \qquad (2.4)$$

where  $\Lambda(s) = \Lambda_0(s) Z_m(s)$ . From (2.1) ~ (2.4) it is easy to see that

$$y_p - y_m =$$

$$\frac{1}{c_0^*} W_m(s) (u_p - \theta^{*T} w) + \frac{(\Lambda(s) - \theta_1^{*T} a(s))}{\Lambda(s) c_0^*} W_m(s) d.$$
(2.5)

By (1.2), the definitions of  $\theta^*$  and w, (2.5) can be rewritten as the following parametric model

$$z \triangleq W_m(s)u_n = \theta^{*T}\varphi_n - \eta_0, \qquad (2.6)$$

where

$$\varphi_{p} = [W_{m}(s)w_{1}^{T}, W_{m}(s)w_{2}^{T}, W_{m}(s)\gamma_{p}, \gamma_{p}]^{T},$$

$$\eta_{0} = \frac{(\Lambda(s) - \theta_{1}^{*T}a(s))}{\Lambda(s)}W_{m}(s)d. \qquad (2.7)$$

Since the controller parameter  $\theta^*$  is unknown, we adopt the following algorithm to estimate  $\theta^*$ .

$$\dot{\theta} = -\Gamma \varepsilon \overline{\varphi}_p + f, \ \varepsilon = \frac{z - \theta^{\mathrm{T}} \varphi_p}{m^2},$$
 (2.8)

$$\begin{cases} m^2 = 1 + n_s^2, & n_s^2 = m_s, \\ m_s = -\delta_0 m_s + u_p^2 + \gamma_p^2, \\ m_s(0) = 0, \\ c_0 = \sigma(-\gamma \epsilon \gamma_p), \end{cases}$$
(2.9)

$$\sigma = \begin{cases} \max \left\{ 0, \min \left[ 1, 1 + \frac{c_0 - c_{\min} - \epsilon_*}{\epsilon_*} \right] \right\}, & \text{if } \epsilon \gamma_p > 0, \\ \max \left\{ 0, \min \left[ 1, 1 + \frac{c_{\max} - \epsilon_* - c_0}{\epsilon_*} \right] \right\}, & \text{if } \epsilon \gamma_p < 0, \\ 1, & \text{otherwise,} \end{cases}$$

$$(2.10)$$

where f can be chosen as dead-zone, or projection, or switching- $\sigma$  modification, etc.,  $\Gamma$  is adaptive gain,

$$\begin{split} & \overline{\varphi}_p = [ W_m(s) w_1^T, W_m(s) w_2^T, W_m(s) \gamma_p ]^T, \\ & \varphi_p = [ \overline{\varphi}_p^T, \gamma_p ]^T, \ \overline{\theta} = [ \theta_1^T, \theta_2^T, \theta_3 ]^T, \\ & \theta = [ \overline{\theta}^T, c_0 ]^T, \ c_{\min} = \frac{k_m}{k}, \ c_{\max} = \frac{k_m}{k}, \end{split}$$

 $\varepsilon_* > 0$  is an arbitrary small constant. The algorithm has the following properties<sup>[1]</sup>:

1) 
$$\varepsilon$$
,  $\varepsilon m$ ,  $\theta$ ,  $\dot{\theta} \in L_{\infty}$ ;

2) 
$$\epsilon$$
,  $\epsilon m$ ,  $\theta \in S\left(\frac{d_0^2}{m^2}\right)$ ,

where  $d_0$  is a constant such that  $|d| \leq d_0$ ,

$$S(w) \triangleq \{x, w \mid \int_{t}^{t+T} |x(\tau)|^{2} d\tau \leq c$$

$$c \int_{t}^{t+T} |w(\tau)| d\tau + c, c \geq 0$$

is some constant,  $\forall t, T \ge 0$ .

(2.5) can be further expressed as

$$y_p = -W_m(s)\alpha^{*\tau}\phi + \frac{\eta_0}{c_0^*},$$
 (2.11)

where

$$\alpha^* = \left[\frac{1}{c_0^*}, \frac{\bar{\theta}^{*r}}{c_0^*}\right]^T, \quad \phi = \left[-u_p, \bar{w}^T\right]^T,$$

$$\bar{\theta}^* = \left[\theta_1^{*r}, \theta_2^{*r}, \theta_3^*\right]^T,$$

$$\bar{w} = \left[w_1^T, w_2^T, y_p\right]^T.$$

Let us consider the control law

$$u_n = \theta^{\mathrm{T}} w + u_n, \qquad (2.12)$$

which leads to

$$r = \frac{1}{c_0} [u_p - \bar{\theta}^T \bar{w} - u_a],$$
 (2.13)

where  $\bar{\theta} = [\theta_1^T, \theta_1^T, \theta_3]^T$  is the estimate of  $\bar{\theta}^*$ . Instituting (2.13) into (1.2), we have

$$y_m = W_m(s) \left[ \frac{u_p}{c_0} - \frac{\bar{\theta}^* \bar{w}}{c_0} - \frac{u_a}{c_0} \right] =$$

$$- W_m(s) \alpha^T \phi - W_m(s) \frac{u_a}{c_0}, \qquad (2.14)$$

where  $\alpha = \left[\frac{1}{c_0}, \frac{\bar{\theta}^T}{c_0}\right]^T$  is the estimate of  $\alpha^*$ . Combining

(2.11) and (2.14), we obtain
$$e = y_p - y_m = W_m(s) \left[ \tilde{a}^T \phi + \frac{u_a}{c_0} + \frac{\Lambda(s) - \theta_1^{*T} a(s)}{c_0^* \Lambda(s)} d \right],$$
(2.15)

where  $\tilde{\alpha} = \alpha - \alpha^*$ . Let us choose  $u_a$  as

$$u_a = -\frac{c_0 Q(s)}{1 - W_m(s) Q(s)} e, \ Q(s) = \frac{W_m^{-1}(s)}{(\tau s + 1)^n}.$$
(2.16)

Introducing (2.16) into (2.15), we obtain the tracking error

$$e = \frac{(\tau s + 1)^{n^*} - 1}{(\tau s + 1)^{n^*}} W_m(s) \left( \tilde{\alpha}^T \phi + \frac{\Lambda(s) - \theta_1^{*T} a(s)}{c_0^* \Lambda(s)} d \right).$$
(2.17)

(2.17) is the desired form. Since  $c_0$  can be obtained by (2.10), then (2.12) and (2.16) can be achieved.

# 3 Stability and performance analysis

The main results are as follows.

Theorem 1 Let  $\tau \in (0, \tau_{\text{max}}]$ , where  $\tau_{\text{max}} > 0$  is any finite number. If assumptions 1) ~ 5) hold, then the closed-loop plant consisting of (1.1), (1.2), (2.8) ~ (2.10), (2.12) and (2.16) has the following properties:

- 1) All signals in the closed-loop plant are all uniformly bounded;
- 2)  $\sup_{t\geqslant 0} |e(t)| \leq c\tau(1+d_0), \ \forall \ \tau \in (0,\tau_{\max}],$  where c is a constant independent of  $\tau$ .

Before giving the proof of Theorem 1, we need a lemma.

**Lemma 1** For the modified MRAC scheme, define  $m_f(t) = 1 + \| (u_p)_t \|_{2\delta} + \| (y_p)_t \|_{2\delta},$   $\forall \delta \in \left(0, \min\left(\delta_0, \delta_1, \frac{1}{\tau_{\max}}\right)\right),$  (3.1)

where  $\|x_t\|_{2\delta} \triangleq (\int_0^t e^{-\delta(t-\tau)} |x(\tau)|^2 d\tau)^{\frac{1}{2}}, \ \delta_1 \text{ is defined later, then}$ 

i) 
$$\frac{|w_i|}{m_f}$$
,  $\frac{||w||_{2\delta}}{m_f}$ ,  $i = 1, 2$  and  $\frac{n_s}{m_f} \in L_{\infty}$ .

ii) If 
$$\theta \in L_{\infty}$$
, then  $\frac{u_p}{m_f}$ ,  $\frac{y_p}{m_f}$ ,  $\frac{w}{m_f}$ ,  $\frac{W(s)w}{m_f}$ ,  $\frac{\|u_p\|}{m_f}$ ,

 $\frac{\parallel \hat{y}_p \parallel}{m_f} \in L_\infty$  , where W(s) is any proper transfer func-

tion that is analytic in Re  $[s] \ge -\frac{\delta_0}{2}$ .

iii) If 
$$\theta$$
,  $\dot{r} \in L_{\infty}$  , then  $\frac{\parallel \dot{w} \parallel}{m_f} \in L_{\infty}$ .

iv) 
$$\frac{m}{m_f}$$
,  $\frac{\varphi_p}{m_f}$ ,  $\frac{\phi}{m_f}$   $\frac{\parallel \varphi_p \parallel}{m_f}$ ,  $\frac{W(s)\varphi_p}{m_f}$ ,  $\frac{\parallel \phi \parallel}{m_f}$   $\in L_{\infty}$ . where  $\varphi_p$  is defined by (2.7),  $W(s)$  is any proper transfer function that is analytic in Re  $[s] \geqslant -\frac{\delta_0}{2}$ ,  $\|\cdot\|$  denotes the norm  $\|(\cdot)_t\|_{2\delta}$ .

Proof of the Theorem 1: From (2.17), (1.3) and (1.1), we can obtain that the output and input are

$$y_{p} = \frac{(\tau s + 1)^{n^{*}} - 1}{(\tau s + 1)^{n^{*}}} W_{m}(s) (\tilde{\alpha}^{T} \phi + \frac{\Lambda(s) - \theta_{1}^{*T} a(s)}{c_{0}^{*} \Lambda(s)} d) + W_{m}(s) r, \qquad (3.2)$$

$$u_{p} = \frac{(\tau s + 1)^{n^{*}} - 1}{(\tau s + 1)^{n^{*}}} W_{m}(s) G_{p}^{-1}(s) (\tilde{\alpha}^{T} \phi + \frac{\Lambda(s) - \theta_{1}^{*T} a(s)}{c_{0}^{*} \Lambda(s)} d) + G_{p}^{-1}(s) W_{m}(s) r - d. \qquad (3.3)$$

It is easy to see that

$$\frac{(\tau s + 1)^{n} - 1}{(\tau s + 1)^{n}} = \frac{\tau s (\tau s + 1)^{n} - 1 + (\tau s + 1)^{n} - 1 - 1}{(\tau s + 1)^{n}} = \cdots = \tau s W_{1}(s), \tag{3.4}$$

where  $W_1(s) = \sum_{i=1}^{n^*} \frac{1}{(\tau s + 1)^i}$ . For any  $\lambda < \frac{1}{\tau_{\max}}, \tau < \tau_{\max}$ , since  $1 - \frac{\tau \lambda}{2} > \frac{\tau \lambda}{2}$ , and  $1 - \frac{\tau \lambda}{2} > 1 - \frac{\tau}{2} \frac{1}{\tau_{\max}} \ge \frac{1}{2}$ , from the definition of  $\|H(s)\|_{\infty \lambda} \triangleq \sup_{\nu} \|H(j\nu - \frac{\lambda}{2})\|_{\infty \lambda}$ , we have

$$\left\| \frac{\tau s}{\tau s+1} \right\|_{\infty \lambda} = 1, \left\| \frac{1}{\tau s+1} \right\|_{\infty \lambda} < 2.$$

Let  $\delta_1 > 0$  be such that  $Z_p(s)$  has all roots in Re [s]  $< -\frac{\delta_1}{2}$ , then for  $\forall \delta \in (0, \min(\delta_0, \delta_1, \frac{1}{\tau_{\max}}))$ , by (3.2), (3.4), Assumptions 2) and 4), Lemma 1 and Lemma 3.3.2 in [1], we have

$$\| (y_p)_t \|_{2\delta} \leq c\tau \| \bar{\alpha} \|_{\infty} \| \phi_t \|_{2\delta} + cd_0 + c \leq c_1 \tau m_f(t) + c, \qquad (3.5)$$

where  $\alpha = \left[\frac{1}{c_0}, \frac{\bar{\theta}^T}{c_0}\right]^T \in L_\infty$  is deduced from the property (1) of the estimation algorithm,  $c_1$  is a constant independent of  $\tau$ . By (1.2), Assumptions 1),2) and 4),  $W_m(s)G_p^{-1}(s) = c_0^* + D(s)$  and D(s) is strictly proper stable transfer function, thus (3.3) can be expressed as

$$u_{p} = -\frac{(\tau s + 1)^{n^{*}} - 1}{(\tau s + 1)^{n^{*}}} c_{0}^{*} \left(\frac{1}{c_{0}} - \frac{1}{c_{0}^{*}}\right) u_{p} + \frac{(\tau s + 1)^{n^{*}} - 1}{(\tau s + 1)^{n^{*}}} c_{0}^{*} \left(\frac{\bar{\theta}}{c_{0}} - \frac{\bar{\theta}^{*}}{c_{0}^{*}}\right)^{T} \bar{w} + \frac{(\tau s + 1)^{n^{*}} - 1}{(\tau s + 1)^{n^{*}}} D(s) \tilde{\alpha}^{T} \phi + \frac{(\tau s + 1)^{n^{*}} - 1}{(\tau s + 1)^{n^{*}}} W_{m}(s) G_{p}^{-1}(s) \frac{\Lambda(s) - \theta_{1}^{*T} a(s)}{c_{0}^{*} \Lambda(s)} d + G_{p}^{-1}(s) W_{m}(s) r - d.$$
(3.6)

For any  $\lambda < \frac{1}{\tau_{\text{max}}}$ , by (3.4), we can obtain that

$$\left\| \frac{(\tau s+1)^{n}-1}{(\tau s+1)^{n}} \right\|_{\infty \lambda} \leq 2^{n}-1.$$

For

$$\delta \in \left(0, \min\left(\delta_0, \delta_1, \frac{1}{\tau_{\max}}\right)\right)$$
,

it is easily concluded that

$$\|\frac{(\tau s+1)^{n}-1}{(\tau s+1)^{n}}\|_{\infty^{\delta}} \leq 2^{n}-1.$$

From (3.1), Lemma 1 and Lemma 3.3.2 in [1],  $\alpha \in L_{\infty}$ , it follows that

$$\tau \| sW_{1}(s) \|_{\infty \delta} \left\| \left( c_{0}^{*} \left( \frac{\theta_{1}}{c_{0}} - \frac{\theta_{1}^{*}}{c_{0}^{*}} \right)^{\mathsf{T}} w_{1} \right)_{t} \right\|_{2\delta} \leqslant c\tau \| (u_{p})_{t} \|_{2\delta} \leqslant c\tau m_{f}(t), \qquad (3.7)$$

$$\tau \| sW_{1}(s) \|_{\infty \delta} \left\| \left( c_{0}^{*} \left( \frac{\theta_{2}}{c_{0}} - \frac{\theta_{2}^{*}}{c_{0}^{*}} \right)^{\mathsf{T}} w_{2} \right)_{t} \right\|_{2\delta} \leqslant c\tau \| (y_{p})_{t} \|_{2\delta} \leqslant c\tau m_{f}(t), \qquad (3.8)$$

where

$$w_1 = \frac{a(s)}{\Lambda(s)}u_p, \ w_1 = \frac{a(s)}{\Lambda(s)}y_p,$$

c is some constant independent of  $\tau$ . Therefore, by assumptions 1) and 5), Remark 2,  $(3.6) \sim (3.8)$ , Lemma 1 and 3.3.2 in [1], we have

$$\|(u_p)_t\|_{2\delta} \le c_2 \|(u_p)_t\|_{2\delta} + c_3 \tau m_f(t) + c,$$
(3.9)

11

thus

where  $0 < c_2 < 1$  and  $c_3$  are some constants independent of  $\tau$ , which leads to

$$\|(u_p)_t\|_{2\delta} \le c_4 \tau m_f(t) + c,$$
 (3.10)

where  $c_4$  is a constant independent of  $\tau$ . For any  $\delta \in \left(0, \min\left(\delta_0, \delta_1, \frac{1}{\tau_{\max}}\right)\right)$ , combining (3.1), (3.5), and (3.10), we get

$$m_f(t) \leqslant c_5 \tau m_f(t) + c, \qquad (3.11)$$

where  $c_5$  is a constant independent of  $\tau$ . Thus for any  $0 < \tau < \frac{1}{c_5}$ , from (3.11) we can conclude that  $m_f(t)$   $< \infty$ ,  $t \ge 0$ . For  $\tau \in [\frac{1}{c_5}, \tau_{\text{max}}]$ , since  $\tau_{\text{max}}$  is finite,

$$m_f(t) < c_5 \tau_1 m_f(t) + c_5 (\tau_{max} - \tau_1) m_f(t) < c$$

where  $\tau_1 \in (0, \frac{1}{c_5})$  is a fixed number, c is a constant dependent upon  $\tau_{\max}$ .

Since the roots of  $(\tau s + 1)^i$  equal to  $s = -\frac{1}{\tau}$ , noticing  $-\frac{1}{\tau} \le -\frac{1}{\tau} \le -\frac{1}{2\tau} \le -\frac{\delta}{2\tau}$ ,

we conclude that  $W_1(s)$  is analytic in Re  $[s] \ge -\frac{\delta}{2}$  for all  $\delta \in \left(0, \min\left(\delta_0, \delta_1, \frac{1}{\tau_{\max}}\right)\right)$ . From (2. 17), (3.4),  $m_f(t) < \infty$ , Lemma 1 and Lemma 3.3.2 in [1], it follows that

$$\mid e(t) \mid \leq \tau \parallel sW_1(s)W_m(s) \parallel_{2\delta} ((\parallel (\tilde{\alpha}^T \phi)t \parallel_{2\delta} +$$

$$\|\left(\frac{\Lambda(s)-\theta_1^{*T}a(s)}{c_0\Lambda(s)}d\right)_t\|_{2\delta}) \leq$$

$$c\tau(m_f+d_0)\leqslant c\tau(1+d_0),$$

where c is some constant independent of  $\tau$ .

#### 4 Conclusion

In this paper, under the assumption that  $k_p$  is unknown, we propose a modified model reference adaptive controller, which can greatly improve transient performance of adaptive systems.

#### References:

- IOANNOU P A, SUN J. Robust Adaptive Control [M]. New Jersey: Prentice-Hall, 1996.
- [2] SASTRY S, BODSON B. Adaptive Control: Stability, Convergence and Robustness [M]. New Jersey: Prentice-Hall, 1989.
- [3] SUN J. Modified model reference adaptive control scheme for improved transient performance [J]. IEEE Trans on Automatic Control, 1993, 38(8):1255 1259.

## 作者简介:

解学军 (1968 一),男,曲阜师范大学自动化研究所教授,1999 年在中科院系统科学研究所获得博士学位,现在东北大学博士后流 动站从事复杂系统和自适应控制的研究工作,E-mail:xiexuejun@eyou.com;

张嗣瀛 (1925 一),男,中国科学院院士,主要研究方向是像分对策、复杂系统的结构与控制;

续 敏 (1970 一),男,现在曲阜师范大学自动化所攻读硕士学位,研究方向为自适应控制.